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You have been called for the written test based on the online data furnished by you in the web application. If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

R-U, 80 YT W Yol YRA-Gectehl b ST A § 3 G T 39T 02 & ¢ |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02
hours.

IR fawedl afgd aedfeiss TR & Tt gt o @ A% o 3fees &7 & G gnm |

The questions will be objective type with four options out of which only one will be unambiguously correct.

% 3T Hfaw 04 3 g 3R 9c@s eld 3ca] & T U 37 shrer Seen |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

SRl & Secik Gol o TeIU @ Ui |igT 37elaT INTHIR SecR-gRecTaT &1 STeat|

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
3T T, Sec-GRecTent 7 T 7T IEEAT & A, e/l TN & dier TSe Ue F HTHR Feck-
et 3 GeiRiel 3iferer 2ht 3ifiel o A Seck T Tl HEAT |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

Teh U2 & ToIU 315 3ca} IToid HATT ST |

Multiple answers for a question will be regarded as wrong answer.
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1.

12.

13.

14.

15.

ma&”aﬁﬁﬁgﬁaqaa-g%mavﬁm. WWWWWWQ:WW
o1 T2 U]

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

e qFecTeRT 31 3T T A T (egshaieh Tl fordd|

Enter your Name and Roll Number correctly in the question booklet.

HTAR 3 -gﬁ?mﬁmﬁq%ﬁ@ﬁﬁaﬁmmaw‘famﬂﬂﬁﬁraﬁraﬁﬁm
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qﬂmﬁaﬁﬁfrﬁﬁmﬁaﬁﬁamﬁﬁa-ﬁwmmmmmm|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

TeY- T, Ale A A Y AT LT G AT

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

et qot Bl W, AN - el ) TR & e FEe 3 $1E A HeT HTHHR Il
gﬁ?mﬁfrﬁaﬁa‘fﬁama@ﬁqﬁrmé;w@l

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

ma-gﬁn‘aarmmﬁmﬁwwm%i

The question booklet can be retained by the candidates.

R 3 S G 3 G 37 o e gl sisa 1 3TAfa el ol

Candidates are not permitted to leave the examination hall during the first hour of the examination.

2 1350



STRHAA-ST (F(3%) U= H.1350 /Draughtsman-B — (Mech) Post No.1350

‘Iﬁ %Q T FTYTS T AT fUd SRt/ Measured size of a finished product is

(a) ATEATA® AR Actual size

(b) s sTH/Dimensioned size
(c) ST H1Y/Production size
(d) Y ArhTY/Basic size

= ¥ Ty T e & T F TgATg) T 4
Identify the type of bolt shown in the figure. N 4
(a) T alee/Rag Bolt T ] T a
(b) <z® Fwe/Lewis Bolt
(c) =g aree/Cotter Bolt :
(d) ST | F uF ¥ 72(/None of the above - e

e § & Si9-a71 sgarag (o) 1= % forg s orgd T8 872
Which of the following is not an essential property for refractory material?
(a) <9 fa=ga ITaFar/High electrical conductivity

(b) ATY/Long life
(c) ATIHTH =T & HT FAqH FFA 4T THTY

Minimum contraction and expansion due to temperature variation

(d) a7 Aee/Heat insulation

LIEC EI & o 2/Nitriding is a
(@) =% 9o % srufda e § & saaret araw i

heating process given to the required portion of the work piece
(b) g gErRor wiwaT e o g e & wa & qriea B sar &/

case hardening process in which work piece is heated in a steam of ammonia

(c) Taorefl T STET Feft §E I8 qerm<or i/

a case hardening process using electricity

(d) STdw § ¥ TF AW TEi/None of the above
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B § Rars 7 91 1 wgaTtAy)/Identify the type of thread shown in the figure

(a) oY 98 1/Buttress thread : P =

rco
(b) =T IE/V thread S ‘:[
(c) Toed Jg1/Sellers thread X

o d=075p ko

(d) feas Ig1/Whitworth thread

aﬁ%ﬁgﬁ%ﬁw%ﬁﬁﬁwm%ﬁqaﬂﬁ-ﬁaﬁﬁrwwmw%

In AutoCAD, what is the command for arraying an object on a helix?

(a) RTFI/ARRAYHELIX (b)  SLYU/ARRAYPATH

(c) HAEATET/ARRAYSPLINE (d)  ATATST/ARRAYLINE

Ratio of Stress to Strain is known as

OB HT91%/Y oung's modulus (b) Tt AqUTd/Poisson's ratio

(c) <Il/Pressure (d)  </Force

S IEIRG CREE |1 R ¥ AT A ST ST TF T STy weor & e A §
Baseline dimensions are referenced from a common geometric feature known as

(a) ivft/Corner (b) ®UEdge

(c) Tu/Datum (d)  fAder fg/Point of reference

WW%A%@%EW@%WWW%WN@#WWW ............

&
When a load W is applied on a bar of cross sectional area A, the average stress induced in the bar will be
(a) W/A (b) WR2A : () 2W/A (d 3W/A
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T T A & e gIdl 1/A simple mechanism has

(a) 2 FHfEFT/links (b) 4 HfSFT/links
(c) 5 Hi=ai/links (d) 6 HEFT/links
TFATACH TG T T oo 21/The purpose of idler pulley is

(a) TET TATF IATC T&AT/to maintain belt tension

(b) T i T It AT/ or starting motion of pulley
(¢) STL-aTX Tfd §8 FAT/for stopping motion frequently

(d) T & 90° @k gftafda F<AT/for changing motion to 90°

The key shown in the figure is

(a) TO= (HaX) FTei/Feather key

(b) U efrdaTeit =Tell/Single headed key
(c) T=TE ATA/Woodruff key

(d) T ATE/Peg key

S HH ZAT HLAT § AT SATTHI/When cam undergoes dwell, the follower
(a) TR war %/remains at rest

(b) THEHA A T Ferdr %/moves with uniform speed

(c) 9L IMEq ¥ QT &/moves with simple harmonic motion

(d) STIH H ¥ TE | A&1/none of the above

&TCT reft THTCor H18r 3 Feat 7 qatiars aiei {09 e BT TR

The maximum circumferential pitch of the bolts for leak proof flanged joint should be

(@) 15Vd (b)  10vd to 20Vd (c)  20Vdto30Vd (d 5Vdto20Vd
Sl 'd' Siwe feg =T §l/where 'd is bolt hole diameter
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15

16.

17

18.

Bearings are used for

(@) 1T UF Hu ¥ FA/reducing shock and vibration
(b) =l U F@T/increasing frictional co-efficient
(c) =Uft Ui A FA/reducing frictional coefficient
(d) E‘Ti?ﬁ ¥ ¥ *IE T8i/none of these

o o
Frr R g e & 92 3 T T IgEra Yl o o
Identify the type of nut from the following figure [ Tl
D

(a) WTA=IL 7/Slotted nut
(b) o=1F 7</Ring nut
(c) rdt Ae/Cap nut

(d) &S TZ/Capston nut

Riveted joint has lowest efficiency in case of

(a) &7 fEfegae dftl/double riveted butt joint

(b) o fafem &7 gfd/double riveted lap joint

() UTHa Rafea vy Tfa/single riveted lap joint

(d) = TE-aEr Rated 9 |@fa/double zig zag riveted butt joint

AleIHe IFaTT FT “AMLAYMOV” 3RS ..o FfRT
"AMLAYMOV" command in AutoCAD software is to

(@) T F TH LW o STM/move object to a layer

(b) TEG F TH HEFI TG L A STA/move object to a working layer

(c) TG FI SieT TGL 9L o SAT/move object to a part layer
(d) ST H ¥ uF i TEi/none of the above

1350



19.

210,

21,

22.

23.

1000 fir +fY. siars ¥ e g2 &1 5 ot 7o di= = S s i i fat aef?

A rod of 1000 mm length has elongated by 5 mm. What is the strain in the rod?
1005

(a) 0.5 (b) 995 (c)
ferferfea & & Fa-a7 999 a7 = g2

Which one is the most ductile material?

(a) 93 TEITa/Mild steel (b)
(c) TATE/Glass (d)

The figure shown represents

(2)

©

.

FIEA/Boss (b)

TUie HE/Spot face (d)

Freforfa § & S 998 T 4w 872
Which one is the hardest pencil?
B (b) HB () H

@)

= R g B § F 6 % w @ sg=ih
Identify the type of thread from the following figure

@
(b)
©
@

T IE1/Buttress thread

T IE1/Round thread

Taae gE1/Knuckle thread

IE H A TF +ff TE1/None of the above

EST9T ATgT/Cast iron
T =/ Tool steel

FT32LI T/ Counterbore

FrIedd/Countersunk

1350



24,

25,

26.

27.

28.

Bt T T o 3 Qe R A R w3 Rrg Rufy wrggan < st

Position tolerance is given to control the deviation in the ------------ of aproduct.
(a) FEg  sMHYshape of the product

(b) fA=Tor gf&aT/manufacturing process

(c) et argror ¥ #4T7/location of a feature

(d) TeRET <reror F srfa=amH/orientation of a feature

TR, S Gra § 7 TgAarer SteAt A Ieh ST BT s ¥ ITART & A et ST 2

Shaft having their axes parallel but not in alignment are coupled using

(a) GIE] (?{ﬁa?fﬂ) ‘é'ﬁTH_rf/Universal coupling (b) %7 I¥A/Flexible coupling

(c) dlreEgrd ZHA/Oldhams coupling (d) TR THA/Flanged coupling
FlTﬁET“sz—7x-l;12=055‘r11Ff("<T£) ................. &l

Root of the equation x? — 7x + 12 = 0 are

(@ {34} b 3.4 ) 3.4 @ 3.4
T (x —2)%2 + (¥ +1)? = 25 FHFL i gl

Centre of the circle (x — 2)? + (y + 1)? = 25 is

(@ 2,-1) ® 20 © @& @ @-D
ECHLURI U ot 1 1 g Tl g

The welding symbol shown indicates

(a) Fore st T Aeee T ST
welding to be carried out at the sight u

(b) =T A Ao AT AATE ' &
welding to be done all round i =

(c) THTAA H wag ¥ Ifesd A
weld flush with surface L

(d) U # & O ot TR

none of the above
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29.

30,

3l.

32.

RRTTE dw Farfida RO A A I oovnvnn

If the bearing pressure is perpendicular to the axis of the shaft, then it is

(a) g FFRAT/Pivot bearing
(b) WO SRS/ Thrust bearing
(¢) e agRaT/Journal bearing

(d) STF H § TH T Toi/none of the above

= fw e o § F ared 3 THE H TEATAQ
Identify the type of Valve from the following figure

(a) foree area/Lift valve

(b) w=TES dTed/Slide valve

(¢) T ared/Flap valve

(@ STEFAATH ‘Fﬁ. T5i/None of the above

In a flanged joint, the flanges are joined by

(a) dYee T F/bolt and nut (b)
(c) aA==/weld (@

9gi/thread
STT/brazing

e vt & e e %Y g B SmaT §2/Fillet weld is represented by the symbol

@ N\
(b) X
(©) s o=

(d

1350



33.

34.

35,

36.

SR T SC— =1 fRatfa T ST gl Tolerance zone is defined by

(a) gAdH AT — g 3MHTUMinimum Limit - Basic Size
(b) @At &T — & AHTYMaximum Limit - Basic Size

(c) watfare @aT — ~gaw IAT/Maximum Limit - Minimum Limit
(d) STHFEFITHA Tai/None of the above

STCETT 3 S ST T AT AT & S WA ¥ erqerer § "yt a1 €2
Type of drawing which helps for maintenance of machines

(a) TSR M@IT/Production drawing

(b) -FHEIT meEor/Assembly drawing

(o) TEeRrfea aqgaT sm@T/Exploded Assembly drawing

(d) Iudwh & & TF Ht 7E1/None of the above

Ratio of distance to time is known as

(a) TILU/Acceleration

(b) FT/Velocity

(c) TaT/Momentum

(d) E“Tﬁ?ﬁ T us At Fl'-ébrfN one of the above

Rk 1A T xS T S TgaT 21/Hook's law holds good upto

(a) ward &Y wxrwa fdg/Yield point of the material

(b) T&Te I yeare {iT/Elastic limit of the material
() T=d #Y wTiees diq1/Plastic limit of the material
(@) fasis feg/Breaking point

10
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38.

39.

40.

41.

42.

e el oft T a7 e T AT T SITAT § A U AT W s &I ST

If gravitational acceleration at any place is doubled, then the weight of the body will become

(a) sgT/half (b)  wHI/same

(c) 3 TAT/times (d) 2 T[AT/times

TOTTE & T T ST ST 3 g <h (Y STATer & AR T oo FEA B
A closed vessel made of steel and used for the generation of steam is called a

(a) WTT F(FeL/steam boiler (b) WY ¢TAT3/steam turbine
(¢) wI@ TyTi/steam condenser (d) 1T 3ia:&fi=/steam injector
ot e T I srmsnnnes g1/ Weight of a body is

(a) W=m (b) W=mg (e W=mg (d W=ma’

F-97 S 9T & GaT8T Aol &7/Which one is not related to ellipse?

(a) WIE STE/Major axis (b) Y ST&/Minor axis

(c) Hre/Focus (d) i E/ped

T T T AT BT TUATE ceveervannnnnnnrnnes g1/Least count of a Vernier scale is

(&) 1msd—1vsd (b) msd/vsd

(¢) vsd/msd (d) 1 vsd — 1 msd

Y ST BT SFIT TIAT I TEG 6 ATEA A ATHIE F ST F TGATT DT s FEd &l

Ratio of size of a drawing to actual size of the object is called
(2) =T 34T 74T FATA/Enlarged scale

(b) =H 3T 73 GTAT/Reduced scale

(c) wifAferaw® GHTT/Representative scale

(d) 9 JHTAT/Plain scale

11

1350



43.

44,

45.

46.

47.

rrter Y & <Y T PRl ARG H AT AT o Fgd a8l

Projection of an object placed in quadrant 'C' is called -
(a) T FHIVT/First angle

(b) &t Fur/Second angle

(c) T %107/ Third angle

(d) =gd SHIoT/Fourth angle

e AT ¥ forT e TR 3 SRR T ST R ST 87
Which type of line is ﬁsed for extension line?

(a) W1 ST @rgA/Thick continuous line

(b) TaET ST A1/ Thin continuous line

(c) HYeT s@=r wreA/Thick chain line

(d) Tar 5@ ATgA/Thin chain line

T AT, T e ¥ 94e< 51/One kg force is equal to

() 9.8kN (b) 189N ) 98N
et} arcgor sfie & =STS TUT AATS 3 A= BT ATATT e 2l
The ratio of breadth to length of a drawing sheet is-

(a) 12 (b) 1:4 © 21

(d 189KN

@ 1:v2

M20x1.5 ¥ T atee & 1.5 Fae 9% &2/ a bolt, M20x1.5, what is 1.5 stands for?

(a) =ITd/Diameter

(b) f=/Pitch

(c) dee BT I #er3/Bolt head thickness
(d) wf=/Lead

12
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48.

49.

50.

31.

52,

In the figure angle 'a' equals

(a) 72 = Hdeg

(b) 36 fSfideg

(c) 18 feft/deg

(d) TH | U AT Tal/none of these

ST VS, ST T G T AT AT Y AT AT T FHET ST @ AV TH TF BT oo Fgd 2l

The curve obtained when a right circular cone is cut through a plane inclined to its base is
(a) dgd/Circle

(b) ErHg</Ellipse

(c) UxTareT/Parabola

(d) stfaaz@era/Hyperbola

30 Rt &7 a7 i A% A qUT FEATHT T F TAGL TF Tq G HT TG AT G DT AT AA1S

A thin rod is kept at 30deg inclined to HP and parallel to VP. Its true length is seen in
(a) @TISIAT/Plan

(b) ¥EA/Elevation

(c) FIVSTAT TAT IATIT 2H1/Both plan and elevation

(d) ¥ & uF ¥ TEi/none of these

%+-§-*§EFI'HTF|' ................. %EIValueof%+§*%is
(a) 7/10 (b) 9/10 () 9725 d 717

A T R deare w1 AT 33 Bl TaY 9=t §E T HiA-at g7
Sum of three consecutive odd numbers is 33. What is the largest number?
(a 11 (b) 12 (c) 13 @ 9
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53.

54.

35,

56.

A sphere in isometric projection is seen as

(@)
(b)
(©)
(d)

gxi/Circle
EED Sphere

2Eg/Ellipse

HASTHIL/Oval

U T & =7at it dear $i e e F aquma T 2l

The ratio of number of teeth in a gear divided by pitch diameter is called

()
(b)
©
(d)

T f0=/Diametral pitch
atsyo f9=/Module pitch
FI<e f4/Chordal pitch
AT f99/Circular pitch

- TF ST AT Tel 82/Which is not a heat treatment process?

(2)
®
(©)
(d)

al?ﬁﬂﬁ'/Armealing
THTHTIEHI/Normalising
9%/ Tempering
wisia/Forging

R sr @ ... % for &1 64T SITATI/Gear is not used to

(2)
(®
(©)
(d)

afe & gf& A/Increase power
i # gfE AT/Increase speed
Tfd H F+H1 AT/Decrease speed
T # gf& /increase torque

14 1350
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58.

59.

60.

LTt A T At Sa<riae i T §=207 HT 4T 2l

A cam can transmit irregular intermittent motion by

(2)
(b)
(©
(@

AT FFAE T SF9AHAT TSN & T T G971 % (org oy g 6t /iy 3@ §
What type of joint is suitable for long and big pipes requiring frequent service?

()
(b)
(©)
(d)

T §9eh/Sliding contact

e §ah/Rolling contact

T T &t 291/Both (a) and (b)
9 | UF o A%1/none of these

IO A/Flanged joint
Ffesa w@fd/Welded joint
FE1g<h |id/Threaded joint
TTH ¥ T HT Ag1/None of these

TS ATSAT H AT T Brer FA % Torg o BT o1 S7T R smar 8

To make the diameter smaller in the pipe lines, what fitting is used?

(@)
(b)
©
@

&/ Tee
FIg1/Elbow

FHA/Coupling
FqATa=/Reducer

.......... T SYFT H<F FuiT i 7 T 1fy F wiafda B smar 2

Rotary motion is converted to linear motion using

(2
(®)
()
(d)

o Rav/Spur gear

g9 g¥Bevel gear

& 7 [MfAe/Rack and pinion
FeforT RUhelical gear

15
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61.

62.

63.

64.

Faferfad § 9 #19-H1 uF B wi® st 599 § 9% ff 988 Fife g2
Which of the following is the correct order of cycle in a four stroke IC engine?
(a) U, gtz arfxh, Ta9/Suction, compression, power, exhaust

(b) =, oTf=h, L=, 991s+/Suction, power, exhaust, compression

(c) =, =, 9Tixh, FdIS/Suction, exhaust, power, compression

(d) =, T, T3, ai<h/Suction, compression, exhaust, power

e orfRe w=ror & forg et & & frasr o e stmar 7
Which of the following is used for low power transmission?

(a) 991E 9gl/Flat belt

(b) I TE/Round belt

(c) dI-9gT/V-belt

(d) ¥g-Ei=ER TgI/Multi grooved belt

IHTH Tdg T XA A8 FLAaTar gag T Hi9-a1 872
Which surface symbol represents smoothest surface?

VVVV VYV VV V
(@) (b) (© (d)

TIA-Ia g " HT Tehw/Symbol for Double-bevel butt joint
(2) (b) © (@

16
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65.

66.

67.

o =Ty T 9 T AT Fdrz0)

Name the coupling shown in the figure

(2)
(b)
(c)
(@

=

% Z3H/Muff coupling

aref A9 I¥HA/Half lap coupling
ﬁ’?ﬁ‘ﬁ A% T3H/Split muff coupling
TR Z7H/Flanged coupling

TAT T HIA-4T 57

Which one is the wrong symbol?

(2)
(®)
(©)

(d

[{eAdT / Straightness

HHddl /Flatness

[/
BT/ Circularity O
©

SI@HTeR / Cylindricity

TAT T D47 57

Which one is the wrong symbol?

(2)
(b)
(©)
(d)

AT/ Parallelism  ———
1f¥ema /Run out /

el /Perpendicularity |
ShITUreRaT/ Angularity Zi._

17
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68. TR T9HT & forg si-A7 ALt WIS §2/Which is the correct standard for circular dimension?

50

i
|
'!

(d)

69. == # @t € T faum st 977 Iq13¢I/Name the dimensioning method shown in figure

65
45
25

50
35
25

(a) =@« faHTHTer/Chain dimensioning

(b) eRTTET fAwWTHOT/Continuous dimensioning
(c) wwiax fGaTeu/Parallel dimensioning

(d) wfdsT fFmTTo/Running dimensioning

70. TRefeiET wdis § 'a’ #97 §2/What is 'a’ in the following symbol?

(a) weffET @</Machining allowance (b)  =&AT HI1/Roughness value
(c) <& GuTT H¥ fFAT/Direction of lay (d)  wid==+ SaTS/sampling length

A 18 1350



1.

T2

& 7 Ry Ty gfi=gE & TR T AT Farell

Name the type of section shown in figure.

(2)
(b)
©
(d)

R 7 R v af=E & T F7 A1 Fa1501/Name the type of section shown in figure.

(2)
(b)
©
(d)

fArewrfig af=eg/Removed section
gfeq gR==e/Broken section
Timiaa TR=eE/Revolved section

steT gf=ea/part section

B NN

VAN
7N

;&

AN

o

‘{Uf qR==g/Full section
AT TR=ea/Offset section
e Ti=g@/Aligned section

gHaT Ufi=aia/Parallel section

19
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73. 9ol TR=wEE 39 FT TgATTI/Identify the correct sectional view

S (AF ] F“” ;'&\\\\\ﬁ A sy

M L ‘
@ () © (d)

W

74. SRt R F w5 e UEATTI/[dentify the correct view in the direction of arrow.

|

L)
e e e e el ]
——_—i-—u

S B I

() (b) (© (d)

A 20 1350



75,

76.

71.

78.

= ¥ fe@te U 9% %7 979 Fa13¢1/Name the gear shown in figure.

é’jm'
A

(a) a9 T 9f2T/Worm and wheel (b) T REYSpur gear

(c) et FaU/Helical gear (d 93« fawBevel gear

Seund 18, 12 17,9, 25, P8, BRI usseusisovn 2l

Range of the numbers 18, 12, 17, 9, 25, 23,27 is

(a) 18 b)) 9 (c) 27 (d 20

ol e rqelor % <1 fsheer o7 2x + 30 and 4x — 60 &, A7 x FTAM .......... B

Two adjacent angles of a parallelogram are 2x + 30 and 4x — 60, then the value of x is

(@) 60 (b) 35 ) 65 @ 25

== 7 fagTy @ 789 % B8 F7 A1 9ar15¢1/Name the machine part shown in figure

(a) FIRI/Bearing (b) =< 7T [Uf"a9/Ratchet and pinion
(c) =iEaT 9fgAT/Chain wheel (@ &= faySpur gear
21
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79. == #H fRgmgag YTHT T ATH Id15¢1/Name the coupling shown in figure

Y

6|

NN

o

g .__
(

9
)

(a) HF TFHA/Muff coupling

o)
&

i
|

<\V....

(b)  TIET THIC & Foiesl T HA/Protected type flange coupling

(c) 3= W/Solid coupling

(d) FBRT gH/Flanged coupling

80. s 7wt it sfra e % g Rt ST fivr st 22

Which one is used to draw irregular curves?
(2) ¥ TFIYSet square

(b) WIdEET/Protractor

(c) 9 d/French curve

(d) Tt STEYMini drafter

22
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